N = 493 N = 494 N = 495

493 circles in acircle 494 circles in acircle 495 circles inacircle

radius = 0.041768035223  density = 0.860072401830 Qeser radius = 0.041727987053  density = 0.860165102327 Qeser radius = 0.04 de
ratio = 23.941753416482 contacts = 1135 ratio = 23.964731361948 contacts = 1112 ratio = 23.989994051192  contacts

N = 496 N = 497 N = 498

496 circles in acircle 497 circles in acircle 498 circles in acircle

radius = 0.041644691456  density = 0.860203041945 [ o radius = 0.041582093300  density = 0.859348030144 [ £omr radius = 0.041572199104  density = 0.860667373695 &%t
ratio = 24.012664400362 contacts = 876 ratio = 24.048813338759 contacts = 880 ratio = 24.054536963472 contacts = 1096 o
499 circles in acircle 500 circles in acircle 501 circles in acircle
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radius = 0.041561717219  density = 0.861960792758 Oesmoe radius =  0.041440537877  density = 0.858650089768 Deswr radius = 0.041363670898  density = 0.857187588349 LA
ratio = 24.060603529222 contacts = 977 ratio = 24.130960919670 contacts = 984 ratio = 24.175803991525 contacts = 1081
502 circles in acircle 503 circles in acircle 504 circles in acircle

radius = 0.041300021660  density = 0.856257278136
ratio = 24.213062361866 contacts = 1157

radius = 0.041254430491  density = 0.856069801657
073

radius = 0.041207278013  density = 0.855812039665
ratio = 24.239820744302 contacts = 107 007

ratio = 24.267557776675 contacts = 100




